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Question # 9 of 10 { Start time: 04:27:48 PM, 26 August 2021 )

The flow |s appoximated as incompressible if
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Question # 10 of 10 ( Start time: 04:22:31 PM, 26 August 2021 )

The material derivative Dp/Dt can be expanded as
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For the steady compressible two dimensional flow, the contin
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MTHE42-Quiz #3 Quiz Start Time: 0527 PM, 26 August 2021

Question # 1 of 10 ( Start time: 03:27:00 PM, 26 August 2021 ) Total Marks: 1

For the steady compressible flow, the continuity eguation is given as

Select the correct option ¥ Reload Math Equations
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Question # 4 of 10 ( Start time: 05:31:02 PM, 26 August 2021 ) Total Marks: 1

The material derivative Dp/Dt can be expanded as

Select the correct option ¥ Reload Math Equations
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The flow is appoximated as incompressible if
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For the unsteady compressible three dimensional flow, the continuity equation is given &z i

Select the correct option ¥ Reload Math Equations
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The continuity equation for steady incompressible flow in cylindrical coordinates is given as
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Question # 2 of 10 ( Start time: 03:28:28 PM, 26 August 2021 ) Total Marks: 1

For an incompressible three dimensional flow, which of the following must be true?
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Question # 7 of 10 ( Start time: 03:35:14 PM, 26 August 2021 ) Total Marks: 1

‘Which of the following is the compreasible continuity equation?

Select the comrect option
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Question # § of 10 ( Start time: 03:36:48 PM, 26 August 2021 ) Total Marks: 1

For the steady incompressible two dimensional flow, the continuity equation is given as 2

Select the correct option ¥ Reload Math Equations
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The continuity equation for steady compressible flow in cylindrical coordinates is given as
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‘Which of the fellwing is used to define the stream function fer two dimensional flows?

Select the correct option ¥ Reload Math Equations

O | the Cauchy equation

0 ithe continuity equation /

| the Reynolds Transport equation

| the Mavier-Stokes equation
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For an incompressible three dimensional flow which of the following must be true?
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For iﬁé steady incompressible flow, the continuity equation is given as
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The differential equation representing the transport of mass and conservation of mass as well is called, :

&
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the Reynolds Transport equation
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O the continuity equation V

the Navier-Stokes equation
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the Cauchy equation
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Queshon # 3 of 10 ( Start time: 10:53:47 AM, 25 Augqust 2021)

Which of the following is the compressible continuity equation?
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po = VP + pg + pVV
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Question # 6 of 10 ( Start ime: 10:56:24 AM. 25 August 2021 )

The continuity equation for steady compressible flow in cylindrical coordinates is given as
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Question # 4 of 10 ( Start time: 10:54:56 AM, 25 August 2021 )

Far an incompressible three dimensional flow, which of the following must be true?
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Question # 1 of 10 { Start time: 10:50:37 AM, 25 August 2021 )

For the steady compressible two dimensional flow. the continuity equation i1s given as
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Question # 5 of 10 ( Start fime: 10:55:42 AM. 25 August 2021 )

The flow is appoximated as incompressible if

Select the corect option
o V. V=00
o vV-Vv=1
O V-V=-1
o V.V=0
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Question # 8 of 10 ( Start ime: 10:58:44 AM. 25 August 2021 )

Which of the following is the incompressible continuity equation?

Select the comrect option
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